

$$\mathbb{H} \triangleleft \mathbb{H} = \left\{ \mathbb{H} \xrightarrow{\mathcal{U}} \mathbb{H} \right\}$$

$$\text{funktion } \mathcal{G}_{\mathcal{U}} \subset \mathbb{H} \times \mathbb{H} \Leftrightarrow \begin{cases} \bigwedge_{\mathbb{H}} \bigvee_{\mathbb{H}} & x:y \in \mathcal{G}_{\mathcal{U}} \text{ def} \\ \bigwedge_{\mathbb{H}} \bigwedge_{\mathbb{H}} & x:y \in \mathcal{G}_{\mathcal{U}} \ni x:\dot{y} \Rightarrow y = \dot{y} \text{ eind} \end{cases}$$

$$\mathbb{H} \xrightarrow{\mathcal{U}} \mathbb{H}$$

$$\mathcal{G}_{\mathcal{U}} = \frac{x:\mathcal{U}}{x \in \mathbb{H}}$$

$$\mathcal{U} \subset_{\text{fct}} \mathbb{H} \times \mathbb{H}$$

$$\mathcal{U} \subset_{\text{fct}} \mathbb{H} \times \mathbb{H} \Rightarrow \mathcal{U} \mathcal{U} \subset_{\text{fct}} \mathbb{H} \times \mathbb{H}$$

$$\text{def } \bigwedge_{\mathbb{H}} \bigvee_{\mathbb{H}} h:\dot{h} \in \mathcal{U} \Rightarrow \bigvee_{\mathbb{H}} h:\dot{h} \in \mathcal{U} \Rightarrow h:\dot{h} \in \mathcal{U} \mathcal{U}$$

$$\text{eind } \bigwedge_{\mathbb{H}} \bigwedge_{\mathbb{H}} x:z \in \mathcal{U} \mathcal{U} \ni x:\dot{z} \Rightarrow \bigvee_{\mathbb{H}} x:\dot{y} \in \mathcal{U} \wedge y:\dot{z} \in \mathcal{U} \xrightarrow{\mathcal{U} \text{ eind}} y = \dot{y} \Rightarrow y:\dot{z} \in \mathcal{U} \xrightarrow{\mathcal{U} \text{ eind}} z = \dot{z}$$